
ldlynf 

gu/kflnsf, 9Ns]a/, wg'iff 

cf=j= 2074.075 sf nflu j*f:t/Lo of]hgfx? 

j*f g+= of]hgfsf] gfd nfugL If]q of]hgfsf] &]ufgf lalgof]lht ah]^ 
nfut 

;xefultf 
hDdf 

1 
  

    1=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ -#) nfv_      

1=1=1 

vfg]kfgL kfO{k nfO{g lj:tf/ tyf 

Joj:yfkg 
;fdflhs 

! g= j8f e/L 2,000,000.00 300,000.00 2,300,000.00 

1=1=2 

l;+rfO{sf] nflu kfOknfOg tyf gfnf 

lj:tf/ 
k'jf{wf/ 

/fhs'df/ dxtf]sf] 3/ glhs /x]s]f 

l8k 6\o'jj]naf6 850,000.00 150000 1,000,000.00 

1=2 

j8f:t/Lo ;fgf k'jf{wf/ dd{t ;Def/ tkm{  

-!) nfv_  

    
1=2=1 Ogf/ lgdf{0f ;fdflhs /fdv]nfjg dxtf]sf] 3/ glhs 255,000.00 45,000.00 300,000.00 

1=2=2 O{gf/ lgdf{0f ;fdflhs lhj5 dxtf]sf] 3/ glhs 255,000.00 45,000.00 300,000.00 

1=2=3 lj;x/f dlGb/ lgdf{0f ;fdflhs sfd]Zj/ 6f]n 127,500.00 22,500.00 150,000.00 

1=2=4 l8xjf/ dlGb/ ;+/If0f ;fdflhs j8f sfof{no b]lv k"j{ k6\6L 42,500.00 7,500.00 50,000.00 

1=2=5 ljBfno ejg dd{t ;fdflhs >L /f=k|f=lj= lzjgu/, uLtfk'/ 170,000.00 30,000.00 200,000.00 

1=3 7"nf k'jf{wf/  tkm{ -@) nfv_ 
 

    
1=3=1 l8k 6o"jj]n lgdf{0f k'jf{wf/ ?knfn 6f]n 1,700,000.00 300,000.00 2,000,000.00 

1=4 s[lif k'jf{wf/ tkm{ -% nfv_ 
 

    1=4=1 l;+rfO{sf] nflu kfOk nfOg cfly{s F/fhs'df/hLsf] 3/b]lv klZrdk6\6L 425,000.00 75,000.00 500,000.00 

1=5 ljBfno -lzIff_ k|a4{g tkm{ -! nfv_ 
 

    
1=5=1 ljBfno ;xof]u -;fdfu|L÷dd{t ;Def/_ ;fdflhs /f=k|f=lj= lzjgu/, uLtfk'/ 50,000.00 0.00 50,000.00 

1=5=2 ljBfno ;xof]u -;fdfu|L÷dd{t ;Def/_ ;fdflhs /f=k|f=lj= ljZjgfy c?nf 50,000.00 0.00 50,000.00 

1=6 

j8f:t/Lo tflnd, uf]i7L / ;]ldgf/ tkm{      

-$ nfv_  

    
1=6=1 dlxnfx?sf] nflu nx7L agfpg] tflnd ;+:yfut j8f e/L 150,000.00 0.00 150,000.00 

1=6=2 

afnaflnsfx?sf] nflu cltl/Qm 

lqmofsnfk÷sfo{qmd 
;+:yfut 

j8f e/L 100,000.00 0.00 100,000.00 

1=6=3 kmlg{r/ lgdf{0f tflnd ;+:yfut j8f e/L 150,000.00 0.00 150,000.00 

1=7 

;LdfGts[t, cNk;+Vos dlxnf, afnaflnsf 

;d'bfonfO{ k|ToIf kmfObf k'Ug] vfnsf 

;xefuLtfTds sfo{qmd 
 

    
1=7=1 blnt a:tLdf Ogf/ lgdf{0f ;fdflhs cfgGbk'/ 170,000.00 30,000.00 200,000.00 

1=7=2 Ogf/ lgdf{0f ;fdflhs lj=c= k|f=lj 250000.00 45000.00 300000.00 

1=7=3 Ogf/ lgdf{0f ;fdflhs lh=df=lj= lzjgu/, uLtfk'/ 255,000.00 45,000.00 300000.00 

   

hDdf 7,000,000.00 1,095,000.00 8,100,000.00 

2 
  

    
2=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ -#) nfv_ 

 

    
2=1=1 

;fd'bflos ejgdf 5t 9nfg k'jf{wf/ 
/fwf]k'/df nIdL ;fd'bflos ejg 

lgdf{0f 255,000.00 45,000.00 300,000.00 

2=1=2 sne6{ lgdf{0f k'jf{wf/ d'n ;8s ;'shf]/ 6f]n 255,000.00 45000 300,000.00 

2=1=3 cf}/xL vf]nf t6aGwg lgdf{0f k'jf{wf/ ;Ltf/fd dxtf]sf] hUuf ghLs 255,000.00 45,000.00 300,000.00 

2=1=4 ;fj{hlgs bnfg lgdf{0f k'jf{wf/ x]dGt s' l+xsf] 3/ glhs 255,000.00 45,000.00 300,000.00 

2=1=5 

;fj{hlgs zf}rfno lgdf{0f tyf ;fd'bflos 

ejg dd{t 
k'jf{wf/ 

vfg]kfgL k/d]Zj/ ofbjsf] 3/ glhs 255,000.00 45,000.00 300,000.00 

2=1=6 
gof ;8s lgdf{0f k'jf{wf/ 

lbg]z dxtf]sf] kf]v/L b]vL cf}/xL 

vf]nf ;Dd 255,000.00 45,000.00 300,000.00 

2=1=7 ;fj{hlgs ejg lgdf{0f k'jf{wf/ lago s'df/ dxftf]sf] 3/ glhs 255,000.00 45,000.00 300,000.00 

2=1=8 ;fa{hlgs ejg lgdf{0f k'jf{wf/ nId0f dxtf]sf] 3/ glhs 255,000.00 45,000.00 300,000.00 

2=1=9 vf]N;Ldf t6aGw / sne6{ lgdf{0f k'jf{wf/ ;fj{hlgs kf]v/L b]lv pQ/ kl§ 255,000.00 45,000.00 300,000.00 

2=1=10 cf}/xL vf]nf t6aGw lgdf{0f k'jf{wf/ b]j]Gb|dxtf] sf] hUuf glhs 255,000.00 45,000.00 300,000.00 

2=2 ;fgf of]hgf dd{t tkm{ tkm{ -!) nfv_ 
 

    
2=2=1 cw'/f] l8lxjf/ dlGb/ ;DkGg ug{ ;fdflhs xhf/f rf}s b]lv blIf0f 255,000.00 45,000.00 300,000.00 

2=2=2 v]ns'b d}bfg ;+/If0f k|j4{g ug]{ ;fdflhs laZjsdf{ rf}s b]lv klZrd 170,000 30,000.00 200,000.00 

2=2=3 cw'/f] dl:hb ;DkGg ug]{ ;fdflhs k|lt 6f]n 127,500.00 22,500.00 150,000.00 

2=2=4 O{gf/ dd{t ;fdflhs dx]Gb| dxtf]sf] 3/ glhs 42,500.00 7,500.00 50,000.00 

2=2=5 O{gf/ dd{t ;fdflhs eljnfn dxtf]sf] 3/ glhs 42,500.00 7,500.00 50,000.00 



2=2=6 O{gf/ dd{t ;fdflhs ;f}vLnfn dxtf]sf] 3/ glhs 42,500.00 7,500.00 50,000.00 

2=2=7 O{gf/ dd{t tyf rf}tf/f lgdf{0f ;fdflhs nId0f dxtf]sf] 3/ glhs 42,500.00 7,500.00 50,000.00 

2=2=8 O{gf/ dd{t ;fdflhs h=p= df=lj=sf] k|f+u0fdf 42,500.00 7,500.00 50,000.00 

2=2=9 em\ofn 9f]sf dd{t ;Def/ ;fdflhs ;fgf ls;fg k|f=lj= 42,500.00 7,500.00 50,000.00 

2=2=10 l8lxjf/ dlGb/ /+u /f]ug ;fdflhs ;'vhf]/ ;'tL{ lasf; glhs 42,500.00 7,500.00 50,000.00 

2=3 7'nf k'jf{wf/ lasf; sfo{qmd -@) nfv_ 
 

    
2=3=1 l8k6o"j]n lgdf{0f tyf kfO{k nfO{g la:tf/ k'jf{wf/ k"j{ kl6[sf] hUuf l;rfO{ ug{ 1,700,000.00 300,000.00 2,000,000.00 

2=4 s[lif tkm{  -% nfv_ 
 

    
2=4=1 

l8k6o"j]ndf 6fG;kmd{/, laB't ld6/ / gfnf 

lgdf{0f 
cfly{s 

xhf/f rf}s b]lv klZrd 155,000.00 45,000.00 200,000.00 

2=4=2 u]6 eNa h8fg tyf kfO{k nfO{g la:tf/ k'jf{wf/ lxdfno l8k6\o"j]n laZjsdf{ rf}s 170,000.00 30,000.00 200,000.00 

2=5 laBfno If]q 
 

    
2=5=1 zf}rfno lgdf{0f k'jf{wf/ ;fgf ls;fg k|f=lj= k|lt6f]n 85,000.00 15,000.00 100,000.00 

2=6 

j8f:t/Lo tflnd uf]li7, ;]ldgf/ ;d]t        

-% nfv_  

    
2=6=1 dlxnf lasf; sf nflu l;k d'ns tflnd ;+:yfut jf=g= @ e/L 200,000.00 0.00 200,000.00 

2=6=2 

sDKo"6/ tflnd afnjflnsf x?sf] nflu @ 

j6f 
;+:yfut 

jf=g= @ e/L 100,000.00 0.00 100,000.00 

2=6=3 k"0f{ ;/;/kmfO{ d}qL sfo{qmd cleofg ;+:yfut jf=g= @ e/L 100,000.00 0.00 100,000.00 

2=7 

;LdfGts[t, cNk;+Vos dlxnf, afnaflnsf 

;d'bfonfO{ k|ToIf kmfObf k'Ug] vfnsf 

;xefuLtfTds sfo{qmd 
 

    
2=7=1 

jfnjflnsfx?sf nflu Jof8ldG6g d}bfg 

lgdf{0f 
;fdflhs 

laZj sdf{ rf}s gS6flemem 150,000.00 0.00 150,000.00 

2=7=2 jfnjflnsfx?sf nflu v]ns'b ;fdfg vl/b ;fdflhs jf=g= @ e/L 140,000.00 0.00 140,000.00 

2=7=3 lqms]6 k|ltof]lutf ;fdflhs jf=g= @ e/L 100,000.00 0.00 100,000.00 

2=7=4 
;fj{hlgs zf}rfno lgdf{0f ;fdflhs 

blnt ;fd'bflos ejg ;fj{hlgs 

kf]v/L gkhs 150,000.00 0.00 150,000.00 

2=7=5 afnaflnsfx?sf nflu cfltl/Qm sfo{qmd ;fdflhs jf=g= @ e/L 150,000.00 0.00 150,000.00 

2=7=6 

blnt ;fd'bflos ejg cw'/f] /x]sf] ;DkGg 

ug]{ 
;fdflhs 

;'shf]/ 150,000.00 0.00 150,000.00 

2=7=7 zf}rfno lgdf{0f ;fdflhs Pe/]i6 ;fd'bflos ejgdf 100,000.00 0.00 100,000.00 

2=7=8 ;/;kmfO{ cleofg lg/Gt/tf ;fdflhs j8f e/L 150,000.00 0.00 150,000.00 

 
  

hDdf 7,000,000.00 990,000.00 7,990,000.00 

3 
  

    
3=1 j8f:t/Lo ;fgf k'jf{wf/ ljsf; -#) nfv_ 

 

    
3=1=1 k'/fgf] /fd dlGb/ dd{t / lgd{0f ;fdflhs ;fljs jf8{ g+= # 340,000.00 60,000.00 400,000.00 

3=1=2 k'/fgf] db/;f dd{t ;fdflhs ;fljs j8f # 340,000.00 60,000.00 400,000.00 

3=1=3 sNe6{ lgdf{0f k'jf{wf/ ;fljs j8f g+= $ 340,000.00 60,000.00 400,000.00 

3=1=4 blnt ;fd'bflos ejgsf] 9nfg sfo{ ;fdflhs ;fljs jf8{ ^ rdf/6f]n 340,000.00 60,000.00 400,000.00 

3=1=5 sDkfp08jfn nufpg] sfo{ k'jf{wf/ ;fljs jf8{ g+= & df /x]sf] ljBfno 425,000.00 75,000.00 500,000.00 

3=1=6 gof+ O{gf/ agfpg] ;fdflhs ;fljs j8f g+= * an6f]n 255,000.00 45,000.00 300,000.00 

3=1=7 ljBfno sDkfp08jfn nufpg] sfo{ ;fdflhs ;fljs ( g+= sf] k|f=lj= 255,000.00 45,000.00 300,000.00 

3=1=8 gofF Ogf/ agfpg] ;fdflhs ;fljs jf8{ g+= & 255,000.00 45,000.00 300,000.00 

3=2 ;fgf of]hgf dd{t tkm{ -!) nfv_ 
 

   
0.00 

3=2=1 k'/fgf] slj/ s'6L lgdf{0f÷dd{t ;fdflhs ;fljs jf8{ g+= $ 170,000.00 30,000.00 200,000.00 

3=2=2 ljBfno ejg tyf ;xof]u ;fdflhs ;fljs jf=g= % sf] df=lj= x/L/xk'/ 85,000.00 15,000.00 100,000.00 

3=2=3 
k'/fgf] O{gf/ dd{t ;fdflhs 

/fhs'df/sf] 3/ 5]p ;fljs jf8{ g+= 

$ 85,000.00 15,000.00 100,000.00 

3=2=4 
gof+ O{gf/ agfpg] ;fdflhs 

hubLz dxtf] wfdLsf] glhs ;fljs 

j8f g+= $ 170,000.00 30,000.00 200,000.00 

3=2=5 gofF Ogf/ agfpg] ;fdflhs nfv]sf] 3/ cuf8L ;fljs jf8{ g+= # 170,000.00 30,000.00 200,000.00 

3=2=6 
gofF Ogf/ agfpg] ;fdflhs 

/dt'Nnf gbfkmsf] 3/ glhs ;fljs 

jf8{ g+= # 170,000.00 30,000.00 200,000.00 

3=3 7"nf k"jf{wf/ ljsf; tkm{ -@) nfv_ 
 

    3=3=1 ;+:yfut cg'bfg ;xof]u ;+:yfut ;fgf ls;fg s[lif ;xsf/Lsf] ejg 

lgdf{0f ;xof]u ;fljs jf8{ g+= # 

1,700,000.00 300,000.00 2,000,000.00 

3=4 s[lif tkm{ -% nfv_ 
 

    3=4=1 s[lif Ogf/ vGg] ;fdflhs ;fljs jf8{ g+= % k'nlst ofbjsf] 

hUufdf-hUuf ;fj{hlgs ug]{ u/L 

170,000.00 30,000.00 200,000.00 



3=4=2 s[lif Ogf/ vGg] ;fdflhs hf]s/sf] 3/ lg/ ;fljs jf8{ g+= * 255,000.00 45,000.00 300,000.00 

3=5 lzIff ljBfno tkm{ -% nfv_ 
 

    
3=5=1 v]ns'b ;fdfu|L ;fdflhs cfwf/e't :s'n ;fljs j8f g+= ( 20,000.00 0.00 20,000.00 

3=5=2 v]ns'b ;fdfu|L ;fdflhs cfwf/e't :s'n ;fljs j8f g+= & 30,000.00 0.00 30,000.00 

3=5=3 v]ns'b ;fdfu|L ;fdflhs df=lj= :s'n ;fljs jf8{ g+= % 50,000.00 0.00 50,000.00 

3=6 tflnd uf]li7, ;]ldgf/ ;d]t tkm{ -$ nfv_ 
 

    
3=6=1 dlxnfsf] nflu l;nfO{ a'gfO{ ;fdflhs jf8{ g+= # xl/x/k'/ 200,000.00 0.00 200,000.00 

3=6=2 o'jfsf] nflu v]ns'b ;fdflhs jf8{ g+= # xl/x/k'/ 200,000.00 0.00 200,000.00 
3=7 ;LdfGts[t, cNk;+Vos dlxnf, afnaflnsf 

;d'bfonfO{ k|ToIf kmfObf k'Ug] vfnsf 

;xefuLtfTds sfo{qmd 

 

    
3=7=1 rf}tf/f lgdf{0f ug]{ ;fdflhs ;fljs j8f g+= ( 75,000.00 10,500.00 85,500.00 

3=7=2 
rf}tf/f lgdf{0f ug]{ ;fdflhs 

;fljs jf8{ g+= & /fdjL/sf] 3/ 

cuf8L 75,000.00 10,500.00 85,500.00 

3=7=3 
zf}rfno lgdf{0f ;fdflhs 

nIdL Hof]tL o'jf Snj ;fljs jf8{ g+= 

* 85,000.00 15,000.00 100,000.00 

3=7=4 
Ogf/ dd{t ;fdflhs 

;Togf/fo0f dxtf]sf] glhs ;fljs 

j8f g+= % 85,000.00 15,000.00 100,000.00 

3=7=5 
Ogf/ gofF lgdf{0f ;fdflhs 

hoz+s/ ;fxsf] 3/ glhs ;fljs 

j8f g+= ^ 170,000.00 30,000.00 200,000.00 

3=7=6 
Ogf/ dd{t ;fdflhs 

;'/]Gb| a'ngsf] 3/ glhs ;fljs j8f 

g+= & 85,000.00 15,000.00 100,000.00 

3=7=7 
gofF Ogf/ agfpg] ;fdflhs 

/fdrGb| dxtf]sf] hUuf  ;fljs jf8{ 

g+= ^ 170,000.00 30,000.00 200,000.00 

3=7=8 Ogf/ dd{t ;fdflhs ;fljs j8f g+= $ lemh 6f]ndf 100,000.00 15,000.00 115,000.00 

3=7=9 df]6/ kfOk vl/b tyf Joj:yfkg ;fdflhs ;fljs j8f g+= & 50,000.00 5,000.00 55,000.00 

3=7=10 df]6/ kfO{k 6\of+sL vl/b / Joj:yfkg ;fdflhs j8f g+= # xl/x/k'/ 80,000.00 8,000.00 88,000.00 

 
  

hDdf 7,000,000.00 1,129,000.00 8,129,000.00 

4 
  

    
4=1 j8f:t/Lo ;fgf k'jf{wf/ ljsf; -#) nfv_ 

 

    
4=1=1 

l8kaf]l/u+ 6of+sL lgdf{0f df]6/ tyf kfO{k 

vlb/ ;d]t 
k'jf{wf/ 

/tgk'/ 2,000,000.00 352,941.18 2,352,941.18 

4=1=2 O{gf/ lgdf{0f ;fdflhs kf/L 6f]n 350,000.00 61,764.71 402,500.00 

4=1=3 

vfg]kfgL 6of+sL jfn, kmnfd] 9f]sf, kmnfd] 

l;9L lgdf{0f 
;fdflhs 

dw'af;f 150,000.00 26,470.59 176,470.59 

4=1=4 blnt bnfg dd{t / kvf{n lgdf{0f ;fdflhs ;'bf 6f]n 150,000.00 26,470.59 176,470.59 

4=1=5 O{gf/ dd{t @ j6f ;fdflhs ;fljs 350,000.00 61,764.71 411,764.71 

4=2 7"nf k"jf{wf/ tkm{ - @) nfv_ 
 

 

3,000,000.00 529,411.76 3,520,147.06 
4=2=1 klSs ;8s lgdf{0f k'jf{wf/ ;fljs jf8{ * rf}sL6f]njf6 ;fljs 

&,^,%x'b} hfg] ;8s lgdf{0f 
2,000,000.00 352,941.18 2,352,941.18 

4=3 s[lif tkm{ -% nfv_ 
 

   
0.00 

4=3=1 s[lif ahf/ Joj:yfkg cfly{s 

 

500,000.00 88,235.29 588,235.29 

4=4 tflnd uf]li7 cGt{ut 
 

   
0.00 

4=4=1 :yfgLo txaf6 kfpg] ;]jf ;'lawfaf/] 

hfgsf/Ld"ns tflnddf 

;+:yfut  75,000.00 0.00 75,000.00 

4=4=2 

k"0f{ ;/;kmfO{ sfo{qmdsf] tflnd uf]li7 

cg'udg 
;fdflhs 

 

100,000.00 0.00 100,000.00 

4=4=3 kz' tyf s[lif tflnd ;+:yfut 

 

75,000.00 0.00 75,000.00 

4=4=4 ue{jtL / ;'Ts]/L cfdfnfO{ tflnd uf]li7 ;fdflhs 

 

100,000.00 0.00 100,000.00 

4=4=5 afnaflnsfnfO{ -afnSna _ tflnd ;+:yfut 

 

50,000.00 0.00 50,000.00 

4=4=6 d7 dlGb/ lgdf{0f Joj:yfkg ;fdflhs 

 

200,000.00 35,294.12 235,294.12 

4=4=6 rd]gL dfO{ dlGb/ hfg] af6f] lgdf{0f k'jf{wf/ 

 

875,000.00 154,411.76 1,029,411.76 

4=4=6 j8f sfof{nodf vfg]kfgL Joj:yfkg ;fdflhs j8f sfof{no 25,000.00 0.00 25,000.00 

 
  

hDdf 7,000,000.00 1,160,294.12 8,151,029.41 

5 
  

    
5=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ -#) nfv_ 

 

    
5=1=1 ;fd'bflos ejg lgdf{0f ;fdflhs ljZj/fdk'/ kf]v/L glhs 255,000.00 45000.00 300,000.00 

5=1=2 
;fd'bflos ejg lgdf{0f ;fdflhs 

>Lk'/ j]rg 7l8ofsf] 3/ glhs /x]s]f 

Ogf/sf] ;fj{hlgs hUufdf 255,000.00 45,000.00 300,000.00 

5=1=3 ;fd'bflos ejg lgdf{0f ;fdflhs nIdLrf]sdf Ogf/sf] ;fj{hlgs hUufdf 255,000.00 45,000.00 300,000.00 

5=1=4 cw'/f] ;fj{hlgs ejg 5t 9nfg ;fdflhs /]8qm; Ogf/sf] k|f+u0f 255,000.00 45,000.00 300,000.00 



5=1=5 

/fdnId0f dlGb/sf ejg ;DkGg ug]{ tyf 

zf}rfno lgdf{0f 
;fdflhs 

/fdnId0f rf]s 425,000.00 75,000.00 500,000.00 

5=1=6 

vfg]kfgL 6of+sL lgdf{0f, df]6/ vl/b tyf 

kfOk nfOg lj:tf/ 
;fdflhs 

/fhdfu{ ;8s b]lv pQ/ /x]s]f 

ag6f]n 340,000.00 60,000.00 400,000.00 

5=1=7 kfOknfOg lj:tf/ k'jf{wf/ hgsNof0f l8k 6\o'jj]n s6'jfn 6f]n 765,000.00 135,000.00 900,000.00 

5=2 

j8f:t/Lo ;fgf of]hgf dd{t ;Def/ tkm{     

- !) nfv_  

    
5=2=1 O{gf/ lgdf{0f ;fdflhs ;'s'Daf;L 6f]n, kfr] du/sf] hUuf 5]p 212,500.00 37,500.00 250,000.00 

5=2=2 
O{gf/ lgdf{0f ;fdflhs 

nId0f dxtf]sf] 3/ glhs klZrd 

jf/L 6f]n lj;/fdk'/ 212,500.00 37,500.00 250,000.00 

5=2=3 
kfOknfOg lj:tf/ k'jf{wf/ 

l8k 6\o'jj]n hn k|aGw ;ldlt 

gS6flemh & 85,000.00 15,000.00 100,000.00 

5=2=4 O{gf/ dd{t ;fdflhs /fhlu/ ofbjsf] 3/ glhs nIdL rf]s 85,000.00 15,000.00 100,000.00 

5=2=5 O{gf/ dd{t ;fdflhs hubLz ofbjsf] 3/ glhs 85,000.00 15,000.00 100,000.00 

5=2=6 O{gf/ dd{t ;fdflhs ls;'gb]j dxtf]sf] 3/ glhs 85,000.00 15,000.00 100,000.00 

5=2=7 O{gf/ dd{t ;fdflhs /fdz/0f dxtf]sf] 3/ glhs 85,000.00 15,000.00 100,000.00 

5=3 7"nf k'jf{wf/ of]hgf ! j6f - @) nfv_ 
 

   
0.00 

5=3 
l8k 6\o'jj]n lgdf{0f k'jf{wf/ 

/fhdfu{ ;8sb]lv blIf0f ljN6' 

ofbjsf] hUuf glhs 1,700,000.00 300,000.00 2,000,000.00 

5=4 s[lif k'jf{wf/ tkm{ - % nfv_ 
 

   
0.00 

5=4=1 
s[lif l;+rfO{ l8k 6\o'jj]n lgdf{0f k'jf{wf/ 

;fljs gS6flemh & axfb'/ kf;jfgsf] 

3/ glhs 425,000.00 75,000.00 500,000.00 

5=5 ljBfno k|aw{g -z}lIfs_ - ! nfv_ 
 

 

0.00 0.00 0.00 

5=5=1 ljBfno ;xof]u tyf 5fqa[lQ ljj/0f ;fdflhs /f=k|f=lj= gS6flemh 100000 0.00 100,000.00 

5=6 

jf8{ :t/Lo tflnd uf]li7 Ifdtf ljsf; - $ 

nfv_  

 

0.00 0.00 0.00 

5=6=1 dlxnfx?sf] nflu l;nfO{ s6fO{ tflnd ;fdflhs j8f e/L 100000.00 0.00 100,000.00 

5=6=2 v]ns'b ;fdfu|L vl/b tyf ljt/0f ;fdflhs j8f e/L 50,000.00 0.00 50,000.00 

5=6=3 afnaflnsfx?nfO{ cltl/Qm lqmofsnfk ;fdflhs j8f e/L 50,000.00 0.00 50,000.00 

5=6=4 

blntx? nlIft s[lif tyf kz' ;DaGwL 

tflnd 
;fdflhs 

j8f e/L 150000.0 0.00 150,000.00 

5=6=5 afnd}qL cleofg tyf hgr]tgf sfo{qmd ;fdflhs j8f e/L 50,000.00 0.00 50,000.00 
5=7 ;LdfGts[t cNk;+Vos, blnt dlxnf, 

afnaflnsf ;d'bfonfO{ k|ToIf kmfObf k'Ug] 

of]hgfx?  -!) nfv_ 
 

    
5=7=1 sDkfp08 jfn lgdf{0f / u]6 lgdf{0f k'jf{wf/ >L /f=k|f=lj= >Lk'/ 275000.00 0.00 275,000.00 

5=7=2 Ogf/ lgdf{0f ;fdflhs blnt a:tL s;b]j vTj]sf] 3/ glhs 250,000.00 0.00 250,000.00 

5=7=3 xo"d kfOk vl/b k'jf{wf/ cNk;+Vos a:tL nufot 300,000.00 0.00 300,000.00 

5=7=4 

k"0f{ ;/;/fO{ sfo{qmd lg/Gt/ hgr]tgf 

sfo{qmd 
;fdflhs 

j8f e/L 100000.0 0.00 100,000.00 

5=7=5 a[Iff/f]k0f sfo{qmd / hfu/0f l;h{gf jftfj/0f j8f e/L 50,000.00 0.00 50,000.00 

 
  

hDdf 7,000,000.00 975,000.00 7,975,000.00 

6 
  

    
6=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ - #) nfv_ 

 

    
6=1 sNe6{ lgdf{0f k'jf{wf/ ldlynf g=kf= ^ an8f8f 500,000.00 75000.00 575,000.00 

6=2 ;8s 9nfg÷;'wf/ k'jf{wf/ Onfsf k|x/L b]lv pQ/ gofF 6f]n;Dd 2,000,000.00 300,000.00 2,300,000.00 

6=3 ljh'nL tf/ / kf]n vl/b k'jf{wf/ ;fljs 9Ns]a/ #,% / ^ df -%,!) / !) j6f_ 500,000.00 75,000.00 575,000.00 

6=2 

j8f:t/Lo ;fgf of]hgf dd{t ;Def/ tkm{     

- !) nfv_  

    
6=2=1 

uh'/ lgdf{0f tyf ejgsf] cw'/f] sfo{ ug]{ ;fdflhs 
/fwfs[i0f dlGb/ tyf ;fd'bflos 

ejg,ld=g=kf= ^ 300,000.00 37,500.00 337,500.00 

6=2=2 
t6aGwg lgdf{0f k'jf{wf/ 

ldlynf g=kf= ^ gofF6f]n a;xL  

vf]nfdf 400,000.00 60,000.00 460,000.00 

6=2=3 slj/ dlGb/ ejg dd{t ;+ef/ ;fdflhs ldlynf ^ an8f8f 50,000.00 7,500.00 57,500.00 

6=2=4 dl:hb lgdf{0f ;fdflhs ldlynf ^, gofF6f]n 100,000.00 15,000.00 115,000.00 

6=2=5 
;fdfu|L vl/b - ;fd'bflos k|of]hg_ ;fdflhs 

ldlynf ^, cflbjf;L hghftL ;d'xsf] 

;fd'bflos sfo{ 150,000.00 22,500.00 172,500.00 

6=2=6 ;fd'bflos ejg lgdf{0f ;fdflhs ldlynf ^, bf; 6f]n 

   
6=3 7"nf k"jf{wf/ of]hgf tkm{ - @) nfv_ 

 

    
6=3=1 ;8ssf] b'j} tkm{ kSsL gfnf lgdf{0f k'jf{wf/ ldlynf g=kf j8f g+= ^, du/6f]n 2,000,000.00 300,000.00 2,300,000.00 

6=4 s[lif tkm{ 
 

    



6=4=1 s[lif ;8s lj:tf/ k'jf{wf/ ldlynf g=kf j8f g+= ^, ljxf/L 

ofbjsf] 3/ b]lv gofF6f]n /fds'df/ 

dxtf]sf] 3/;Dd / pk]Gb| dxtf]sf] 

3/b]lv s[lif ahf/;Dd 

300,000.00 45,000.00 345,000.00 

6=4=2 
hl8a'6L v]tL k|a4{g sfo{qmd jftfj/0f 

ldlynf ;xsf/L g=kf= ^, ldlynf 

hl8a'6L ;+:yf dfkm{t 200,000.00 30,000.00 230,000.00 

6=5 lzIff tkm{ 
 

    
6=5=1 vfg]kfgL tyf O nfOa|]/L ;+rfng sfo{ ;fdflhs d=df=lj=, 9Ns]a/ 100,000.00 0.00 100,000.00 

6=6 

jf8{ :t/Lo tflnd uf]li7 Ifdtf ljsf;       

- $ nfv_  

    6=6=1 ;Lkd'ns tflnd-;nfO{ agfO{, crf/, v]nf}gf 

agfpg]_ 

;fdflhs ldlynf g=kf= ^ sf dlxnfx?sf] nflu 200,000.00 0.00 200,000.00 

6=6=2 ;/;kmfO{ sfo{qmd ;fdflhs ldlynf g=kf= ^ 100,000.00 0.00 200,000.00 

6=6=3 j}b]lzs /f]huf/ ;DjlGw cled'vLs/0f 

sfo{qmd 

;fdflhs ldlynf g=kf= ^ sf o'jfx?sf] nflu 100,000.00 0.00 100,000.00 

 
  

hDdf 7,000,000.00 967,500.00 7,967,500.00 

7 
  

    
7=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ - #) nfv_ 

 

    
7=1=1 

vfg]kfgL kfOknfO{g dd{t tyf lj:tf/ k'jf{wf/ 
vfg]kfgL pkef]Qmf ;ldlt, ;fljs j8f 

g+= @ 1,000,000.00 150000.00 1,150,000.00 

7=1=2 Ogf/ lgdf{0f ;fdflhs ljdn sfsL{sf] 3/ glhs Psn]j/ 6f]n 300,000.00 45,000.00 345,000.00 

7=1=3 gof Ogf/ lgdf{0f ;fdflhs ljh'nL ljefu glhs ld=g=kf & 300,000.00 45,000.00 345,000.00 

7=1=4 gof Ogf/ lgdf{0f ;fdflhs ldlynf & ;fa]8f8f 300,000.00 45,000.00 345,000.00 

7=1=5 gofF Ogf/ agfpg] ;fdflhs ldlynf & jujL/ ofbjsf] 3/ glhs 300,000.00 45,000.00 345,000.00 

7=1=6 
sHj] lgdf{0f k'jf{wf/ 

ldlynf & ;f}t]gL vf]nf Psn]j/ 

;fj]8f8f hfg]af6f] 700,000.00 105,000.00 805,000.00 

7=1=7 rf}t/f lgdf{0f ;fdflhs Psn]a/ 100,000.00 15,000.00 115,000.00 

7=2 

j8f:t/Lo ;fgf of]hgf dd{t ;Def/ tkm{    

- !) nfv_  

    
7=2=1 

zf}rfno jfn lgdf{0f tyf vfg]kfgL 

kfOknfOg lj:tf/ 
k'jf{wf/ 

>L /f=k|f=lj= 9Ns]j/, ld=gkf= & 250,000.00 37,500.00 287,500.00 

7=2=2 eid]Zj/ dlGb/ dd{t ;fdflhs ldlynf g=kf= & a;xL vf]nf 100,000.00 15,000.00 115,000.00 

7=2=3 

Ogf/ dd{t ;fdflhs 

ldlynf & sf ;'/]z ;fxsf] 3/ glhs, 

/fh]Gb| dxtf]sf] 3/ glhs / /fhs'df/ 

s8/Lsf] 3/ glhs 250,000.00 37,500.00 287,500.00 

7=2=4 kmlg{r/ lgdf{0f tyf ejg dd{t ;+ef/ ;fdflhs /f=lg=df=lj= s]dnLk'/ 400,000.00 60,000.00 460,000.00 

7=3 7"nf k"jf{wf/ of]hgf tkm{ - @) nfv_ 
 

    
7=3=1 

nRsf lgdf{0f k'jf{wf/ 
ldlynf g=kf j8f g+= & , s]dnLk'/ 

hfg] af6f] a;xL vf]nf 2,000,000.00 300,000.00 2,300,000.00 

7=4 s[lif tkm{ -% nfv_ 
 

    
7=4=1 af]l/Ë lgdf{0f k'jf{wf/ ldlynf g=kf j8f g+= & , ;fljs @ 500,000.00 75,000.00 575,000.00 

7=5 lzIff tkm{  ljBfno k|a4{g ! -Nffv_ 
 

    
7=5=1 

vfg]kfgL kfOknfO{g dd{t tyf lj:tf/ / 

ljB't jfol/Ë 
k'jf{wf/ 

/f=lg=df=lj= s]dnLk'/ 100,000.00 0.00 100,000.00 

7=6 

jf8{ :t/Lo tflnd uf]li7 Ifdtf ljsf;       

- $ nfv_  

    
7=5=1 

;Lkd'ns tflnd ;+rfng -l;nfO s6fO{ tyf 

a'gfO{ agfpg]_ 
;fdflhs 

ldlynf g=kf= & sf dlxnfx?sf] nflu 300,000.00 0.00 300,000.00 
7=5=2 hgr]tgfd"ns sfo{qmd -dWokfg÷nfu' kbfy{ 

b'Jo{j;g lj?4_ 

;fdflhs ldlynf g=kf= & sf afnaflnsfx?sf] 

nflu 

100,000.00 0.00 200,000.00 

 
  

hDdf 7,000,000.00 975,000.00 8,075,000.00 

8 
  

    
8=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ -#) nfv_ 

 

    8=1=1 gof ;8s lgdf{0f k'jf{wf/ k|sfz dxtf]sf] 3/b]lv rqmaxfb'/ 

x]Ghg af/Lsf] Ogf/;Dd 

255,000.00 45000.00 300,000.00 

8=1=2 cfwf/e't ljBfno cw'/f] ejg lgdf{0f ;fdflhs hd'gLaf; 263,000.00 46,112.00 309,112.00 
8=1=3 ;fd'bflos ejg lgdf{0f ;fdflhs ;'8\8L6f]n 340,000.00 60,000.00 400,000.00 
8=1=4 

:ofnf] 6\o'jj]n lgdf{0f k'jf{wf/ 
;fljs j]+u8fa/ # sf] vfg]kfgL 6\of+sL 

glhs 510,000.00 90,000.00 600,000.00 
8=1=5 :ofnf] 6\o'jj]n lgdf{0f k'jf{wf/ ;fljs j]+u8fa/ @ h+ujL/ dxtf]sf] 

hUuf glhs, d"n ;8s b]lv klZrd 

510,000.00 90,000.00 600,000.00 

8=1=6 gofF Ogf/ agfpg] ;fdflhs uf]n]6f]n 204,000.00 35,190.00 239,190.00 
8=1=7 gofF Ogf/ agfpg] ;fdflhs eL/ufpFn] 6f]n 204,000.00 35,190.00 239,190.00 



8=1=8 gofF Ogf/ agfpg] ;fdflhs ljgf]b dxtf] 3/sf] glhs 204,000.00 35,190.00 239,190.00 

8=2 

j8f:t/Lo ;fgf of]hgf dd{t ;Def/ tkm{ -

!) nfv_  

    
8=2=1 Ogf/ dd{t ;fdflhs 

;fljs j]+u8fa/ # /fdk|sfz dxtf]sf] 3/ 

cuf8L 42,500.00 7,500.00 50,000.00 

8=2=2 ljBfnosf] kf]v/L dd{t ;fdflhs cfwf/d't ljBfno, s';'d lj;f}gf 127,500.00 22,500.00 150,000.00 

8=2=3 

;8s lgdf{0f k'jf{wf/ /fhdfu{ b]lv blIf0f ljB't 6fj/ b]lv 

;fljs j8f g+= @ kf]v/L ;Dd 

170,000.00 30,000.00 200,000.00 

8=2=4 :ofnf] 6\o'jj]n lgdf{0f k'jf{wf/ bfg jxfb'/sf] hUufsf] j/Lkl/ ;fljs 

j]+uf8fa/ ! d"n ;8s b]lv k"j{ 

467,500.00 82,500.00 550,000.00 

8=2=5 
l;+rfO{ df]6/ vl/b ;fdflhs 

;fljs j8f g+= @ df /x]s]f l8k 

6\o'jj]nsf] nflu 42,500.00 7,500.00 
50,000.00 

8=2=6 b'uf{ dlGb/ dd{t ;Def/ ;fdflhs s';'d lj5f}gf 127,500.00 22,500.00 150,000.00 

8=2=7 
Ogf/ dd{t ;+ef/ ;fdflhs 

:s"n glhs /x]sf] ljho dxtf]sf] 

3/df /x]sf O{gf/ 42,500.00 7,500.00 50,000.00 

8=2=8 O{gf/ dd{t ;fdflhs /fd cf}tf/ l;+xsf] 3/ cuf8L /x]sf] O{gf/ 42,500.00 7,500.00 50,000.00 

8=3 7"nf k"jf{wf/ of]hgf tkm{ -@) nfv_ 
 

    
8=3=1 

kSsL gfnf lgdf{0f k'jf{wf/ 
dx]Gb| /fhdfu{b]lv pQ/ tkm{sf] d'n 

;8ssf] b'j} tkm{ 1,700,000.00 300,000.00 2,000,000.00 

8=4 s[lif l;+rfO{ tkm{ -% nfv_ 
 

    
8=4=1 s'nf] lgdf{0f k'jf{wf/ ;fljs j]+u8fa/ ! l:yt 255,000.00 45,000.00 300,000.00 

8=4=2 
s[lif ;8s lgdf{0f k'jf{wf/ 

5 3/Lof /fgf 6f]n x'Fb} v'nfnL 6f]n 

;Dd 170,000.00 30,000.00 200,000.00 

8=5 lzIff tkm{  ljBfno k|a4{g ! -Nffv_ 
 

    
8=5=1 sDkfp08 jfn tyf kmlg{r/ dd{t k'jf{wf/ cfwf/d't ljBfno, s';'d lj;f}gf 100,000.00 0.00 100,000.00 

8=6 

jf8{:t/Lo tflnd uf]li7 Ifdtf ljsf;        

- $ nfv_  

    
8=6=1 crf/ agfpg] tflnd ;fdflhs j8f e/L 150,000.00 0.00 150,000.00 

8=6=2 l;nfO{ a'gfO{ tflnd ;fdflhs j8f e/L 250,000.00 0.00 250,000.00 

8=7 ;fdflhs ljsf; tkm{ 
 

    
8=7=1 afnaflnsfsf nflu ljljw lqmofsnfk ;fdflhs j8f e/L 150,000.00 0.00 150,000.00 

8=7=2 dlxnf :jf:Yo lzlj/ ;fdflhs j8f e/Lsf dlxnf 75,000.00 0.00 75,000.00 

8=7=3 v]nd}bfg lgdf{0f ;fdflhs ;fljs j]+uf8fa/ @ sf] kf]v/L glhs 43,750.00 0.00 43,750.00 

8=7=4 v]nd}bfg lgdf{0f ;fdflhs ;fljs j]+uf8fa/ # cGtu{t 43,750.00 0.00 43,750.00 

8=7=5 vf]gkfgL 6of+sL lgdf{0f ;fdflhs /fgf6f]n 510000.00 90000.00 600,000.00 

 
  

hDdf 7,000,000.00 1,089,182.00 8,089,182.00 

9 
  

    
9=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ - #) nfv_ 

 

    
9=1=1 ;fd'bflos ejg lgdf{0f ;fdflhs vDafl;+x 6f]n 500,000.00 45000.00 545,000.00 

9=1=2 Ogf/ lgdf{0f ;fdflhs vTj] 6f]n 300,000.00 45,000.00 345,000.00 

9=1=3 Ogf/ lgdf{0f ;fdflhs gfu]Gb| 7fs'/sf] kmd{ glhs 300,000.00 45,000.00 345,000.00 

9=1=4 ;fd'bflos ejg lgdf{0f ;fdflhs tNnf] ;fj{hlgs kf]v/L glhs 500,000.00 75,000.00 575,000.00 

9=1=5 wd{zfnf lgdf{0f ;fdflhs l;4]Zj/ dxfb]j dlGb/sf] k|f+u0f 500,000.00 75,000.00 575,000.00 

9=1=6 Ogf/ lgdf{0f ;fdflhs rdf/ 6f]n 300,000.00 345,000.00 645,000.00 

9=1=7 ;fj{hlgs zf}rfno lgdf{0f k'jf{wf/ j8x/L ahf/ 600,000.00 90,000.00 690,000.00 

9=2 

j8f:t/Lo ;fgf of]hgf dd{t ;Def/ tkm{    

- !) nfv_  

    
9=2=1 

Xo'd kfO{k sNe6{ lgdf{0f k'jf{wf/ 
ab|L sfkm\n]sf] 3/ glhs ls;fg gu/ 

hfg] af6f]df 200,000.00 30,000.00 230,000.00 

9=2=2 glb lgoGq0f tyf t6aGbwg lgdf{0f k'jf{wf/ ;'Gb/k'/ a:tL 300,000.00 45,000.00 345,000.00 

9=2=3 ljh'nL kf]n ;'wf/ tyf af6f] dd{t k'jf{wf/ l;h{gf a:tL 100,000.00 15,000.00 115,000.00 
9=2=4 Xo'd kfOk vl/b tyf h8fg sfo{ k'jf{wf/ /fgf6f]n, j]r] 7s'/Lsf] 3/ glhs 

af6f], ;fljs % g+= d'naf6f], gf/fo0f 

a/fnsf] 3/ glhs s'nf]df 

300,000.00 45,000.00 345,000.00 

9=2=5 d';x/ blnt ;dfh ef8f jt{g vl/b, dlGb/ 

tyf rf}tf/f ;+/If0f 

;fdflhs d';x/ a:tL tyf uf]/]sf] ldn glsh 

/x]s]f d:hLb tyf rf}tf/f 

50,000.00 7,500.00 57,500.00 

9=2=6 Ogf/ dd{t ;fdflhs b]jLnfnsf] 3/ glhs /x]s]f k'/fgf] Ogf/ 50,000.00 7,500.00 57,500.00 

9=3 7"nf k"jf{wf/ of]hgf tkm{ - @) nfv_ 
 

    
9=3=1 

xo'd kfOk sNe6{ tyf 3f6 lgdf{0f k'jf{wf/ 
dflyNnf] ;fj{hlgs kf]v/L tyf 

To;;Fu hf]l8Psf] af6f] 1,000,000.00 150,000.00 1,150,000.00 

9=3=2 lbuf] pHofnf] sfo{qmd -;f]nf/ aQL h8fg_ k'jf{wf/ cfjZos :yfg j8f e/L 1,000,000.00 0.00 1,000,000.00 



9=4 s[lif l;+rfO{ tkm{ -% nfv_ 
 

    

9=4=1 

jf6/ l8efO8/, s'nf] dd{t x\o'd kfO{k 

h8fg tyf k'/fgf] Ogf/  dd{t 
k'jf{wf/ rb/f k}gL d'xfg ;fljs & g+= s'nf] 

tyf uf]ljGb a/fn glhssf] Ogf/ 350,000.00 52,500.00 402,500.00 

9=4=2 s'nf] lgdf{0f k'jf{wf/ ;fljs % g+= tNnf] 6f]ndf ag]sf] jf]l/Ë ug]{ 150,000.00 26,500.00 172,500.00 

9=5 lzIff tkm{  ljBfno k|a4{g ! -Nffv_ 
 

    
9=5=1 

ljB't h8fg, k+vf tyf z}lIfs >Jo b[io 

;fdfu|L vl/b 
k'jf{wf/ 

dbg cfl>t cfwf/e't ljBfno, 

j]+u8fa/ 100,000.00 0.00 100,000.00 

9=6 

jf8{ :t/Lo tflnd uf]li7 Ifdtf ljsf;       

- $ nfv_  

    
9=6=1 

s6f{, a'gfO{ tyf crf/ / hfd agfpg] 

tflnd 
;fdflhs 

j8f e/L 200,000.00 0.00 200,000.00 

9=6=2 l;nfO{ a'gfO{ tyf Jo'l6l;og tflnd ;fdflhs j8f e/L 200,000.00 0.00 200,000.00 

10 
  

hDdf 7,000,000.00 1099000.00 8,095,000.00 

10=1 j8f:t/Lo ;fgf k'jf{wf/ tkm{ - #) nfv_ 
 

    
10=1=1 shj] lgdf{0f k'jf{wf/ 8Da/ vqLsf] 3/ k5f8Lsf] af6f]df 500,000.00 75000.00 575,000.00 

10=1=2 s[lif ;8s lgdf{0f k'jf{wf/ 
/fdx/L sfsL{sf] 3/af6 pHHjn 

rf}xfgsf] d'n 8u/ ;Dd nRsf ;d]t 
400,000.00 60,000.00 460,000.00 

10=1=3 vfg]kfgL Joj:yfkg ;fdflhs 6of+sL lgdf{0f, kfgL 6+sL 6f]n 500,000.00 50,000.00 550,000.00 

10=1=4 gof+ 6«ofs af6f] lgdf{0f k'jf{wf/ vf]s;L dfemL 6f]n 500,000.00 50,000.00 550,000.00 

10=1=5 
gof+ 6«ofs af6f] lgdf{0f k'jf{wf/ 

ljgf]b bfxnsf] 3/ b]lv j8f g+= (sf] 

d"n 8u/ hf]8\g] 300,000.00 45,000.00 345,000.00 

10=1=6 t6aGwg lgdf{0f k'jf{wf/ j8x/L vf]nf t];f]{ dfemL 6f]nsf] $ 7fpFdf 500,000.00 75,000.00 575,000.00 

10=1=7 
gof 6«ofs vf]nL af6f] lgdf{0f k'jf{wf/ 

tNnf] vo/6f]sL / ;'gf}nf] a:tL hf]8\g] 

af6f] 300,000.00 45,000.00 345,000.00 

10=2 ;+:yfut of]hgf tkm{ - !) nfv_ 
 

    10=2=1 sNe6{÷x\o"d kfOk÷nRsf lgdf{0f k'jf{wf/ sfnLdfof ;fsL{sf] 3/b]lv ls;fggu/ 

k}gL / nIdL bfxfnsf] 3/b]lv 

ls;fggu/ k}gL ;Dd 

400,000.00 60000.00 460,000.00 

10=2=2 dlGb/ dd{t ;+ef/ ;fdflhs led;]g dlGb/ 100,000.00 15000.00 115,000.00 
10=2=3 3]b'8= u'Daf lgdf{0f ;fdflhs u'Djf dd{t ;Def/ 100,000.00 15000.00 115,000.00 

10=2=4 x\o'd kfOk vl/b k'jf{wf/ ljleGg s'nf], af6f] tyf gof 6«ofsdf 

/fVgsf] nflu 

200,000.00 30000.00 230,000.00 

10=2=5 s'nf] dd{t k'jf{wf/ 7f]s/sf] 3/b]lv d'nk}gL;Dd 100,000.00 15000.00 115,000.00 

10=2=6 v]ns'b d}bfg lgdf{0f ;fdflhs wgf}hL c:ktfn d'gL 100,000.00 15000.00 115,000.00 

10=3 7"nf k"jf{wf/ of]hgf tkm{ - @) nfv_ 
 

    
10=3=1 6«; 3/ lgdf{0f ;fdflhs wg]Zj/ lzj dlGb/ 1,500,000.00 225000.00 1,725,000.00 
10=3=2 5q] vf]N;L lgoGq0f, ;+/If0f Pj+ kf]v/L 

lgdf{0f tyf kfgL lgsf; 

k'jf{wf/ wg]Zj/ dlxnf ag afl6sf 500,000.00 75000.00 575,000.00 

10=4 s[lif k'jf{wf/ tkm{ -% nfv_ 
 

   
0 

10=4=1 

Jojzflos cfUof{lgs s[lif -xl/t ufpF_ v]lt 

k|j4{g sfo{qmd 
;fdflhs 

t];f]{ dfemL 6f]n 300,000.00 45,000.00 345,000.00 

10=4=2 
sNe6{ / af6f] lj:tf/ ;fdflhs 

8Da/ vqLsf] 3/ b]lv df]8]n 

c:ktfn;Dd 200,000.00 30,000.00 230,000.00 

10=5 ljBfno k|a4{g -z}lIfs_ - ! nfv_ 
 

 

0 0 0 

10=5=1 
ljBfno ;xof]u / ka4{g ;fdflhs 

df=lj= nfnu9 / wgf}hL cfwf/e't 

ljBfno 100000.00 0 100,000.00 

10=6 

j8f:t/Lo tflnd uf]li7 Ifdtf ljsf; - $ 

nfv_  

 

0.00 0 0 

10=6=1 

j8f:t/Lo ;]ldgf/ / uf]li7 tyf sfo{qmdx? 

-dfu cg';f/_ 
;+:yfut 

j8f e/L 100000.00 0 100,000.00 

10=6=2 

Joj;flos, lzkd'ns, cfocfh{g sfo{qmd -

dfu cg';f/_ 
;+:yfut 

j8f e/L ;dGjosf ;fy 300,000.00 0 300,000.00 

 
  

hDdf 7,000,000.00 925000.00 7,925,000.00 

11 
  

    
11=1 j8f:t/Lo k'jf{wf/ ljsf; tkm{ - #) nfv_ 

 

    
11=1=1 vfg]kfgL d'xfg ;+/If0f / 3]/fjf/f k'jf{wf/ wf/f6f]n, t'n;L 200,000.00 30000 230,000.00 

11=1=2 nRsf lgdf{0f k'jf{wf/ /}sf vf]nf, t'n;L 300,000.00 45000 345,000.00 

11=1=3 kf]v/L lgdf{0f k'jf{wf/ l;sf/L 8f8f t'n;L 200,000.00 30000 230,000.00 

11=1=4 ejg lgdf{0f k'jf{wf/ lj/x o'jf Snj, t'n;L 300,000.00 45000 345,000.00 

11=1=5 Ogf/ lgdf{0f ;fdflhs t'n;L /Tg 6f]n 100,000.00 15000 115,000.00 

11=1=6 Ogf/ lgdf{0f ;fdflhs t'n;L /fdrGb| 6f]n 150,000.00 22500 172,500.00 



11=1=7 rf}tf/f lgdf{0f ;fdflhs t'n;L /fdrGb| 6f]n 100,000.00 15000 115,000.00 

11=1=8 Ogf/ lgdf{0f ;fdflhs t'n;L ;'Gbf; 6f]n 200,000.00 30000 230,000.00 

11=1=9 Ogf/ lgdf{0f ;fdflhs t'n;L tf/fWjh 6f]n 100,000.00 15000 115,000.00 

11=1=10 Ogf/ lgdf{0f ;fdflhs t'n;L kfi6/fh 6f]n 100,000.00 15000 115,000.00 

11=1=11 l;+rfO{ s'nf] lgd{0f k'jf{wf/ ljZjde/ 500,000.00 75000 575,000.00 

11=1=12 l;+rfO{ s'nf] lgd{f0f, jfx'gdf/f k'jf{wf/ afx'gdf/f 500,000.00 75000 575,000.00 

11=1=13 s[lif ;8s shj] k'jf{wf/ b'wkfgL r'/] 125,000.00 18750 143,750.00 

11=1=14 s'nf] l;+rfO{ d'xfg lgdf{0f k'jf{wf/ cfkuf5L 125,000.00 18750 143,750.00 

11=2 ;fgf of]hgf dd{t tkm{ - !) nfv_ 
 

    
11=2=1 Ogf/ dd{t / lgdf{0f ;fdflhs emns 6f]n, t'n;L 50,000.00 7500 57,500.00 

11=2=2 Ogf/ lgdf{0f ;fdflhs ;'gf/ 6f]n, t'n;L 50,000.00 7500 57,500.00 

11=2=3 Ogf/ dd{t / lgdf{0f ;fdflhs an 6f]n, t'n;L 50,000.00 7500 57,500.00 

11=2=4 l;+rfO{ s'nf]df sHj] lgdf{0f k'jf{wf/ b'wkfgL 450,000.00 67500 517,500.00 

11=2=5 kf]v/L lgdf{0f k'jf{wf/ nf]6fxf k/fh'nL 6f]n 200,000.00 30000 230,000.00 

11=2=6 kf]v/L lgdf{0f k'jf{wf/ nf]6fxf s[i7fs'df/L 6f]n 200,000.00 30000 230,000.00 

11=3 7"nf k"jf{wf/ of]hgf tkm{ -@) nfv_ 

     
11=3=1 r'/]b]lv nf]6fxf;Dd ;8s lgdf{0f k'jf{wf/ t'n;L 2,000,000.00 300000 2,300,000.00 

11=4 s[lif k'jf{wf/ l;+rfO{ s'nf] tkm{ - % nfv_ 

    
0 

11=4=1 vfg]kfgL wf/f lgdf{0f ;fdflhs :jf:Yo rf}sL, t'n;L 50,000.00 7,500.00 57,500.00 

11=4=2 Ogf/ lgdf{0f ;fdflhs wf/f6f]n, t'n;L 50,000.00 7,500.00 57,500.00 

11=4=3 l;+rfO{ s'nf] lgdf{0f k'jf{wf/ 9f8vf]nf 300,000.00 45,000.00 345,000.00 

11=4=4 j8f dd{t sfof{no ;+:yfut t'n;L 100,000.00 0 100,000.00 

11=5 ljBfno tkm{ - ! nfv_ 

  

0 0 0 

11=5=1 lkmN8 lgdf{0f k'jf{wf/ dxfb]j lg=df=lj= b'wkfgL 100000 0 100,000.00 

11=6 

j8f:t/Lo tflnd uf]li7 Ifdtf ljsf; -$ 

nfv_ 

  

0 0 0 

11=6=1 xfp; jfol/8= -;sf/fTds ;f]r ;d]t_ ;fdflhs j8f e/L 200000 0 200,000.00 

11=6=2 Jo'6Lkfn{/ tflnd ;fdflhs j8f e/L ;dGjosf ;fy 200,000.00 0 300,000.00 

 

hDdf 7,000,000.00 960,000.00 8,060,000.00 

 

;a} j8fsf hDdf k"hLut ah]6 

77,000,000.0
0 

  

 

;a} j8fsf hDdf k|zf;lgs ah]6 -!! j8f % nfvsf] b/n]_ 5,500,000.00 
  

 

s"n hDdf 82,500,000.00 
   


